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Equations of Lines

Slope - intercept Form
y=mx+b

Slope - Point Form
y - y1 = mx - xi)

General Form
ax + by +¢ = 0
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Slope - intercept Form
y =mx +b J

Determine the equation of a line
with a slope of 6
and a y-intercept of 15.

M=6 b=|5
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Slope - Point Form
y - y1 = m(x - Xq)
Determine the equation of a line

with a slope of 5
and passing through the point (-3, 6).

m=5  Pink 75 Y
_ 3—9l:m(X~X\>
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General Form
ax + by +¢c = 0
Determine the equation of a line
with a slope of 8
and passing through (4, -2).
HINT... Use the slope-point form to help you.®

M= ¢ ?«m%— '\~'
s (F Y

- SO T -31=0
@%{?x“@? %

Q =8X- ~32-2
O:?X—g%f3$
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Let's

Kick it up a notchl

Determine the equation of a line passing
through the points (11, 9) and (12, -3).

State your answer in slope-point form.

* (f(\\sq)‘“h;; ?D m=-1% ({4

" 941 =m- \(\
=-3q. L"a X~ 1)
13 -1\

-

\
M=-13
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Determine the equation of a line passing
through the points (11, 9) and (12, -3).

State your answer in slope-point form.

m=yz-Yyi

X - X v© y-9=-12(x - 11) y - (-3)=-12(x - 12)
m=-3-9 y+3 =-12(x - 12)

12-11 y-9=-12x+132 y+3=-12x + 144
m=-12 12x +y -9 -132 =0 12x +y +3 -144=0

1 (A2x +y-141=0 (12x +y-14@‘
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Write the following in
General form. o.e.c-o

@{ZxJ %3’2(*9 "6§ I(i 2)
O‘L%X-g:ﬁ— @fax —(¢ °4-15> @

ly =4y ~g

ﬁi@@ M-y
% % m®?+5
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State the Slope and the Point:
— SENAYA §8 X

Q) 3 = 6(x
Slope= 6 Point= (3, 5)

mM LX -X)
) §& D= 2/3(x C9)

Slope= 2/3 Point= (9, -7)

c) y= -4(x

Slope= -4 Point= (-8, +8)

d) y(+ 7)= 1/3(x € 3)

Slope= 1/3 Point= (4, -7)
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fih

Check out
page 372

Questions 4, 5(state answer in general form) 9a, 12
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